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Kostenfunktion

12

10

— Fixkosten
= Variable Kosten

Gesammtkosten
o

Menge
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Payoff

Cosmos
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Nullsummenspiel
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Maximin 1

Firma B | Media Markt

pl p2

0 -10 -20
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50 20
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40 90 50

-20 10 50

pP3

—
(9p]
N
(4]
=
+=
€O
p—
-
[ <
— ]
py —
D
|
]
L
—
S — |
D
L=
=)
=
D
o
S
D
L=
[&]
L
O
=)
=
N
o
w
| .
D
=
L=
=CO
=
D
O
D
=
(qv]
@
—
D
=)
<C
D
L=
=
= —
[9°]
L=
3B
=
=
(70}
-]
D
4=
D
o
s
Lo
[
[ ]
[ag)
[aN |

30.10.2005 Spieltheorie ein Beispiel / Mark Willuhn Matr.Nr.:8727490




Maximin 2

Firma B | Media Markt
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Maximin 3

Firma B | Media Markt

p2 p3
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DEFINITION:

Nash Equilibrium If there Is a set of
strategies with the property that no player
can benefit by changing her strategy while
the other players keep their strategies
unchanged, then that set of strategies and
the corresponding payoffs constitute the
Nash Equilibrium.
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Nash 4
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Gewinn-Niveaus FirmaB Media Markt

pl p2 p3

pl 0 40

Saturn

. 2 4 4 1
Firma A P L L 2

s BB 100 | 100
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Gleiche Strategie [FirmaB | Media Markt

p1 p2 p3
o 0 10 20
0 50 40
Cosmos 5 50 20 10
Fimaa " 10 20 90
3 40 90 50
20 10 50
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Marktraumung Firma B Media Markt
Sonder-Sonderangebot

Saturn
Firma A
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Neuer Konkurrent Neue Firma: China Trade

pl p2 p3

0 40 20

Saturn 40 50
MMarkt -10 40 100
pP3 20 100 100
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2 Firmen des selben Konzerns in verschiedenen Preissegmenten

Media Markt

Saturn
Firma A
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